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Choose the correct answer from those given: 1Al Gy Gm Oe dagaal) Y A

(D | 4 regular die is rolled once, the Jia) b aa g ) e -\ Saa
e : O 3aal 95 e 25 jaa (Al 1)
probability of appearing the b D sl o L 6 sl ggls
number 5 known that the number | ~ 5 s
appeared is odd equals ........... | 7 -
a |1 |
4
b |1 -
3
1
c |5 =
2
d |2 3
4
.......................................................................................................................................... .==
@ The value of K in the following L - -==
probability distribution is: P A Aad) gl (2 A
F(x), 3 5 8 A o v (092
1 1 \JA tIA Yd
X, K2 — — / / L
4 2
1 .
a |- J
4
b |1 -
3
1 2
c | -
d |2 3
4
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@ -\
If A and B are two events of e plab e oia oo d oS 1)
sampl.e space for a random o §eilsy G gde 4 el
experiment S and A — B then s (115)d
P(B/A) equals ......c.ccvvevveeeeees | T TOT LT

a |P(A) ()| !

b _|P(B) (@] <«

c [P(A-B) (2-)d =

d | P(S) (H)dJ] »

@ X
If. all the p.01nts ina s.cattel.' A JLELY) JSG B Bl gen culS )
dmgmm. lie on a st{fatght line, the o BLEY) Jalaa o3 :6, g
correlation coefficient between the ; syl
two variables equals: | T T

a [£1 V4|
b (0 Vo
c % V2| &
d % % | 2




® r
The strongest correlation .
coefficient of the following |  ........ B b Lasd Bl ) Jalaa (5 68
ISeeeeeeeeecnsnnnecnn
a (0.7 Y|
b 1.2 LY <
¢ [-0.9 G-l
d -0.3 ., V- <
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If Z is a standard normal variable, Gk Ll gl T pida o S 1Y)
Then : P (Z H 1.5) equals to the O Oy @ BY (5 gludi (Y 0<00)d
nearest two decimals ............. | e & Shet
a |2.23 Y, Yv )i
b |1.51 V,00 | w
¢ |0.07 V] a2
d |1.21 VLYV




@ If the marks of students at a| . s o) b Skl clajs cis )y | =7

school  follow a normal = 1 beal) Adar g Lada Loy 55

distribution whose mean n = 42 ] .
: . . [IVEN Lizal) 48) jadlg £ Y
and its standard deviation is v daa & g gk S

O (ya SiS) Shall e % Y9,V
where 26.11% of students got O A 5o u»: Yo | g
more than 50 marks, find v. ‘0 2yl Aad




If A and B are two independent = (1) oSy Dl ol ‘

¢ v,V = LY u)-ﬁ.wu ul.a..\a - ¢ |
events P (A) =0.6, P (A-B) = 0.36 (u(u) i)d P = (u-i)d
calculate P (A U B) i o .




@ In a study to show the relation -4

between two variab{es x and y, we_ 08 ¢ o Croal g 4Bl A o
ngve éz,t 7the Zj{zllo;v;ngzl::sultglg 3— 7, (Vo= A il e Ul
C AR YT LX) T LLLS V¢V = VeV =
o), ¢ BN o
>’ = 3430 2 % 2

1. Find th ion li : FEr. =0 c YIYY =0a
. ylol:l xt e regression line equation L u"“ Ul J\_h_,'\_hshal.u g L)

Y.= Al 3 Y
2. Estimate the value of y when x= S
20




If x is a random variable whose -\
probability distributions is as dn 58 Uil gt T pita e s 1)

follows: s sy,
X -2 -1 0 3 4 ¢ v . \- -] Lo
1 1 3 1 3 AY PAIY [y oy | e | o)l
fX) | =a — — | =a —= (
4 16 16 8 8

rad) T giall 2a g) ol ) dagd 3a )

Find the value of a, then find the " .
fa, fr o ordall ol

mean and variance of the variable




@ The following table shows the i i -1
marks of six students in math and | < <30 B S 3 G A Jgaad)

Statistics exams clualy ) g slaall Aala
£ 2
§22(25]19|24 25 13| || 'V Ve eI ¥e VYA

8 4
2 145(35|40 28|40 25| || 'O |t | VAt Yo eo ]
Calculate spearman’s correlation Ot Qb sl ) Jali ) Jalaa Gaaa)
coefficient between the marks of As g L Ciludly i g slaa¥) (A 2
math and statistics then show its

fype.




- T % - . » o -‘ *
@ x is a continuous random variable Juaial) 48ls Ay Juala (A gde paadia u
whose probability density function is s
1 Y2020 e d+ 1)
_)J=x+K, 0<x<0
f(x) =16 = ()*
zero, otherwise 5 e .
Find the value of K, then find P ’ ’M
(1.5<X<2)5) (Y,02 021,80 ) d gl ¢ dded dx




